HEBAEAKRRH AKX L RBABHRS

H—SHEHRN (BT TEREBMIERR)

ENBMEEINZETRE

(B) S 264818

(£) HHM3E3/31H

(B4 : [)
BIERE FE(A) REI(B) ER(A)-(B) %

SBEUA 4,000, 000 3,351,000 649, 000
SHBRIA 23, 366, 000 24,225,228 -859, 228

ETE DN 7, 400, 000 11,927,940 -4,527,940
REREHH RN 64,917,000 67,613,710 ~2,696, 710
BIRERULA 100, 000 13,621 86,379

Y |SEFERURA 182,088, 000 182,039, 615 48,385
PNE=S1N 660, 000 80, 600 579, 400

i =T=E DN 1,390, 000 2,921,998 -1,531,998
| |[rEEEEREA 70,900, 000 67,361,768 3,538, 232
B| |EERSES2EA 3,704,000 3,876, 703 -172,703
] |zofoRA 350, 000 1,204, 474 -854, 474
S [BEaRAG (1) 358, 875, 000 364, 616, 657 -5, 741,657
E MBI 209, 008, 000 195,720,175 13,287, 825
| |EEEEm 57,812,000 57,169, 141 642, 859
EBEZL 52,830, 000 67,625, 758 -14,795, 758

% |HEBSEsSERE 3,100, 000 2,975,710 124,290

H | s31Ee 23, 466, 000 23,735,530 ~269, 530
B 10, 600, 000 10, 251, 497 348, 503
2BPe%H 359, 000 361, 656 -2, 656
BREEHTUWE (2) 357, 175, 000 357, 839, 467 664, 467

| |[FEmaenEs (3) - (1) - (2) 1,700, 000 6,777,190 -5,077,190
o ”; HBRRAEEIRAG (4) 0 0 0
%% | mrasmezy 7,700, 000 2, 462, 240 5,237,760
‘; H | sEssesms wEt (5) 7,700, 000 2, 462, 240 5,237,760
2 |EREREASNEEE (6) = (4) - (5) ~7,700, 000 -2, 462, 240 -5, 237,760
o | W [z E R 7,000, 000 0 7,000, 000
5| A |zothoEsm Azt (7) 7,000, 000 0 7,000, 000
B | % [EraEs 1,000, 000 1,000, 000 0
(€| i [zothosEsnsz st (8) 1,000, 000 1,000, 000 0
¢ [eotommasNEES (9) = (7) - (8) 6,000, 000 ~1,000, 000 7,000, 000
FREZE (10) 0
LEIESINEERASE (11) = (3) + (6) + (9) - (10) 0 3,314,950 -3,314, 950
BRI EREE (12) 75, 850, 000 76, 445,102 -595,102
UHREIESEE (11) + (12) 75, 850, 000 79,760, 052 ~3,910, 052




